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15 #RC 8 5.000 + 24.502 + 4.962 + X 0.212 + X 0.176
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B # = A

RUIFLUE#MFT (10)
15 4RA 1+ 1+ 1 3 A
15 #%C 8 + 8 + 1+ 1+ 5 23] 0
105 #% 20 + 1+ 1+ 2 + 1 25| A
135428 10 + 4+ 1+ 7 221 A
1754%A 6 + 3+ 1+ 4 14 0O
195 #% 10 + 2 + 1 13 O
205 #RA 2 + 1+ 1 4l o
21 5 4% 14 + 5+ 13 + 1 33 0
245 4% 1 1 O
255 % 7+ 2 + 2 + 3+ 1 15 0
275 #RA 8 8| 0o
295 #% 2 + 1+ 1 4@
305 ## 8 + 1+ 1 10 O
DS #R 18 + 1 19 0
ES#R 6 + 2 + 1+ 1+ 1+ 12( O
FE 6 + 1+ 1 ]




B #o = g | A
=E = 214 O 214
RUIFLUE#MFT (20)
15 #%A 1 = 11 O
15 #%C 2 + 6 + 1+ 2 + 1+ 1 = 13 O
105 4% 1+ 1 = 2 0
135428 7+ 2 + 1+ 1 = 1l o
17E4%A 1 = =
195 #% 1+ 1+ 3+ 2 = =
205 #RA 1+ 1+ 1 = 3 O
21 5 4% 1+ 9 + 2 + 1+ 1+ 1+ 5 = 20 O
451 = of A
255 #i% 3 = 3/ o
275 #RA 2 = 2 0
295 % 2 + 1+ 1 = 4/ 0
305 #¢ 2 + 1+ 1 = 4/ 0
DS #R 1+ 1+ 2 = 4 0O
ES#R 1+ 1 = 2| O




& #m R ==Fivi A&t
FE R 2 = 2l O
&5t = 79 B 79
15#5C 24543
AHAZHIMFET (20) ( 1 + 1 ) x 2 = 4] 0 4
15#5C 1354#B 1754HA 195# 20548 2154% 24545 25543 275 #RA
RUIFLUERT 17 + 13 + 3+ 7+ 3+ 21 + 1+ 4 + 4
2954 30BR DE#R ES#R F&#R 154A 1054
+ 4 + 4 + 3+ 3+ 2 + 2 + 4 = 95 B 95
154C 13588 175#HBA 1954 2054A 2158 2454 2554  2754%A
KERTUHFET 1+ 1+ 1+ 1+ 1+ 2
2954 30BR DE#R ES#R F&#R
+ 1+ 1+ 1 = 10] % 10
154C 13588 175#HA 1954 205#A 2158 2454 2558  2753A
SREJIFHFETL + 1
2954 305K DER ES#R F&#R
= 11 & 1
154C 135#B 175#A 1954 2054A 2154 2454 2554  2754EA
fHIEFFRET T 1
2954 0B DER ES#R F&#R
= 11 & 1
154C 135#B 175#A 1954 2054A 2154 2454 2554  2754RA
A2 2 + 1
2954 305K DER ES#R FE#R
= 11 @ 1
15420 135 #%B 17548A 1954#& 20 5HRA 2154 24543
BERTRI—FT 78.652 + 74.201 + 45.13 + 59.486 + 14.267 +  119.789 + 1.725
255 #% 275 4RA 295 #% 305 #R DE#R ES#R FE#R
+ 44,844 + 35.667 + 18.094 + 46.685 + 96. 697 + 39. 853 + 37.110
15 #%A 1054
+ 1.740 +  109.540 = 823.480 m 823.5




EURHBETHEE 650
& FR #H K =R (72 A&t
15#%C 135#%B 175HRA 19548 205 #%A 2154 24543
EHRT—JI 78.652 + 74.201 + 45.13 + 59.486 + 14.267 + 119.789 + 1.725
255 4% 275 H3A 295#% 305 R DE#R ES#R FS#R
44 844 + 35.667 + 18.094 + 46. 685 + 96.697 + 39. 853 + 37.110
15 #RA 10543
1.740 + 109. 540 = 823.480[ m 823.5
15#%C 135#%B 175HRA 19548 205 #%A 2154 24543
BEERLEAT 78.652 + 74.201 + 45.13 + 59.486 + 14. 267 + 119.789 + 1.725
255 275 %A 2953 305 DS ES % FS %
44 844 + 35.667 + 18.094 + 46. 685 + 96.697 + 39. 853 + 37. 11
15 #RA 105-#¢
1.740 + 109. 540 = 823.480[ m 823.5
15#RC 1354RB 1754RA 19548 2054RA 2154R 2454 256548  2]54%A
HUIHEET 1+ 1+ 1+ 1+ 1+ 2
2954  30BHE DEM ES#R FS R
+ 1+ 1+ 1 = 10 # 10
15#RC 135#RB  1754RA 19548 2054RA 21548 24548 25548  2154RA
2954  30BHE DEM ES#R FS R
= 1 & 1
15#RC 1354RB  1754RA 19548 2054RA 21548 24548 256548  21S4RA
HARE T e
29548  30B#R DER E=S % F5 %
= 1| & 1
15#C 135#B 175#A 1954 205#RA 2158 2454 2554  275#RA
HEFRET + 2
05 DSR E= % F5 6%
= 2| #H 2




B # = A
FERET
LKA HF =L S5EE 16| &FR 16
HERE 4 + 5 & 5
by vavh)- b vh2
(F#2) 35 _E&REE 500mm x 200mm 5| @& 5
(%) 3% JEE R 500mrr|| X 40mm 5| @& 5
FERET
R FELSRE 16| &FR 16
HERE 4 + 5 & 5
by vavh)- b v)2
(). E&REE 500mm x 200mm 5| & 5
(A#): EhR 500mm x 40mm 5| {& 5




REREMBMBEHTEE

A AR - TR TR B s
RYIFLUERET ¢ 50
15 HRA 29.07 = 2.0/ [ m
15 #%B 106. 90 = 106.90 [ m
15 #RC 68. 70 = 68.70 | m
105 4% 113. 94 = 11394 [ m
135138 157.69 = 15/.69 [ m
14548 12.13 = 72.13] m
1954R 35. 48 = 35.48 [ m
205 #RA = m
205 #%B 125. 36 = 125.36 [ m
2154 94.71 = 94. 771 m
235 R 98. 38 = 58.38 [ m
245 4% 29.07 = 29.07 [ m
255 #R 25.98 = 25.98 [ m
295 #R 1.46 = 1.46 | m
305 #R 11.72 = 11.72] m
DS #R 99. 68 = 59.68 [ m
ES#R 39.97/ = 39.97 [ m
FS#R 317.21 = 317.21 m
&t = 1067.51 m 1,067.5




RREHHMBHEE

2 Rodk - ~hik BEH Bif HE
HIVPHASKEEAT ¢ 75 x ¢ 50
1S48A ? = 2 | B
15458 i = 1| &Fr
15480 = &
105 4% = B AT
13548 i = i iR
1454 = B AT
195 4% = B AT
20 %A = El3i
20E 438 ) = 2
2154 = B AT
2354 = B AT
2454 = B AT
2554 = BT
2984 i = i iR
0S4 = BT
DE#R = El3ii
ES#R = El3i
FE# = El3ii
&t = AN L




REREMBMBEHTEE

27 otk - ik EUEy By | e
K/ NV TEAT ® 50 % ¢ 50
15 RA - o
15 #%B - o
12450 1 - -
10582 2 = | B
135438 5 = 7| B
1454 ) - 5
1984 i - T
205 #2A - B
205488 - B
2154 5 = AN
23548 i = i &
24248 i - T
528 = T
2928 = i
3024 i - T
D8 i = &R
ES 4 i = &R
FER 1 = 1| &Err
St = 16| iR




RREHHMBHEE

&R ik - <tk g - Xivi BE
RYIFLUERFT $ 50
15 #RA 2+ 4+ = 6] 0
15 #%B 1+ 2+ 1 = 410
15 #%C + 3+ 1 = 410
1054 2+ 4+ = 6 O
135428 1T+ 8 + 3 = 1278
14548 2+ 4+ = 3
1954 + 3+ 1 = 41 0
205 #RA + + = A
205 #5B 2 4+ 4 4 = 6 m|
2154 + 6 + 2 = 8 m|
2354 + 3 + 1 = 4 m|
24543 + 3 + 1 = 4 m|
255 4% + + 1 = 1 m|
205#% 1+ 2 4 1 = 4 m|
305 #R + 3 + 1 = 4 m|
DE#R + 3 + 1 = 41 0O
ES#R + 3 + = 3 i
FER + 3 + 1 = /=
Xl = 841 1




RREHHMBHEE

AR Ak - Tk T - Xivi s
ROMFET $ 50 x ¢ 50
15 HRA 41 0
15 #%B 21 0
15 #RC 3| 0O
105 3B 4 A
13538 8 A
14548 4 A
19548 3 A
205 #RA A
205 #5B 4 m|
2154 6 m|
2354 3 m|
24543 3 m|
255 4% m|
295 #% 2 m|
305 #R 3 m|
DE#R 3 i
ES#R 3 i
F5 R 3| o
&5t 58 O 58




RREHHMBHEE

Z2E ik - ~Hik X B HE
RYUIFLUEYRT ¢ 50
15 #RA 41 0
15 #%B 41 ©
15480 41 0
10548 4 A
13538 6 A
14548 4 A
19548 2 A
205 #RA A
205 #5B 2 m|
2154 2 m|
2354 2 m|
24543 2 m|
255 4% m|
295 #% 2 m|
305 #R 2 m|
DE#R 2 |
ES#R 41 0O
F5 R 2 0O
&5t 470 44




RREHHMBHEE

B Ak - Tk E= BT HE
NILIJHRBETL 50
1S 4RA 1] &
15438 1] &
15 4RC 1] &
10548 1 -y
135 #%B 3| =
14548 2| &
19548 1 -y
205 #RA =
205 #%B 2| &
21548 2| &
235 4% 1] &
24548 | &
255 4% =
295 #% 1 =
305 #R 1 =
DE 5 1] &
ESHR [
FE 1] %
&t 20 A= 20




RREHHMBHEE
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EZILEYRT
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0O: |O
| SN I I o O O I A X I [ o O o A o ) B E D

O

i
o

O
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REREMBMBEHTEE

& MR - <Hik "HER By H=
RUIFLUERET ¢ 50
15 #RA 29.07 ="""29.070 | "m
15 #3B 106. 90 =""106.900 | "m
15 #0 68.70 ="""68.700 | "m
10548 113794 =11379407 "m
135 #%B 157.69 =""157.690 | m
14548 72,13 ="72.130 | m
19548 35. 48 =""357480 | "m
205 #RA = m
205458 125.36 =""125360 | m
21548 94.77 =""947T107  m
23548 58.38 =58 380 | m
24548 29.07 ="""29.070 | "m
255 4% 25.98 ="""95.980 | m
295 4% 1.46 = 17460 | "' m
054 11.72 =170 m
DER 59.68 ="""59.680 | m
ES#R 39.97 =""39.970 T m
FE# 37.71 =300 m
&&t =""1067.51" "m i,067.5




RREHHMBHEE

B Ak - Tk E= BT HE
NILTRET 50
1S 4RA 1] &
15438 1] &
15 4RC 1] &
10548 1 -y
135 #%B 3| =
14548 2| &
19548 1 -y
205 #RA =
205 #%B 2| &
21548 2| &
235 4% 1] &
24548 | &
255 4% =
295 #% 1 =
305 #R 1 =
DE 5 1] &
ESHR [
FE 1] %
&t 20 A= 20




§5. 8
Bt THEHEE



ERMITHEMNEE

£ fedk - <tk FEX By 2
154RA
T IERIER 1. K& (AsEi%) ¢100 d=0.60 25.16 = 25.16 m
135#%B 2354%
2. ANE% (Coffizk) ®100 d=0.60 5.37 + 2.59 = 7.96 m
135#%8
3. AE% (CoffizE) @75 d=0.60 1.97 = 1.97 m
19543 205#RA 2154 2554 2154RA DE#R
4. K& (Coffizk) ¢50 d=0.60 1.28 + 0.66 + 29.25 + 2.48 + 33.17 + 96. 61
FS#
3.1 = 206. 56 m
2354%
5. AE% (Coffidz) $100 d=0.90 1.93 = 1.93 m
19548 21548 255 4% 215#3A 305H%
6. AEX (CoffisE) ¢50  d=0.90 1.78 + 3.14 + 3.67 + 2.12 + 2.51 = 13.22 m
135#%8 2354%
1. KRR (RSE) @100 d=0.60 100.49 + 56. 35 = 156. 84 m
15#%B 14543 TTSH#RA 19543 205#RB 2454
8. AR (RHE) @75 d=0.60 87.19 + 65.61 + 22.02 + 29.64 + 126.26 + 47.28 m
295 4%
13. 65 = 391. 65 m
154%C 135#%B TTS#RA 19543 205#RA 2154
9. KR (RHE) ¢50  d=0.60 55.08 + 58.93 + 41.26 + 50.07 + 13.43 + 56. 01 m




mITHEHEE

A7 K - sHE FERK By g
265 #¢ 295 4% 305 #¢ ES#R 10548
+ 29.37 + 16.46 + 39.87 + 37.36 + 109. 54 = 507. 38 m
135#%B 2354%
10. ARER (RE%R) @100 d=0.90 24.28 + 11.09 = 35.37 m
15438 1954 205#%B 245 4% 295 4%
11, K& (REE) @75 d=0.90 21.99 + 2.98 + 18.95 + 1.92 + 2.45 = 48.29 m
15420 135#RB TTSH#RA 1954 2154 2454
12. RE&k CGREhZE) @50 d=0.90 22.12 + 12.62 + 3.26 + 0.57 + 21.57 + 1.45 m
2554% 2954% 305 H% ES#
+ 8.42 + 1.39 + 4.62 + 5.21 = 81.22 m
13. K& (REE) ¢75 d=1.20 7.09 = 7.09 m
14, {RE% (REEE) ¢50  d=0.30 20.04 + 1.38 + 9.62 + 6.65 + 4.83 + 2.20
+ 1.34 + 87.49 + 10.63 + 20.07 + 25.98 + 4.50
+ 4.50 + 24.69 + 37.21 = 279.13 m




ERMITHEMNEE

AR K - ~Tik FER =X v) H=
TTIHEE 1 TTHS 2 TTHE 3
= IR E A INBY Ny & RO R B FE A 25.16 x 0.51 + 7.96 x 0.44 + 1.97 x 0.43
TT&ES 4 TTHEE S TTEHS 6
+ 206.56 x 0.42 + 1.93 x 0.50 + 13.22 x 0.47
TTIHEE T TTHS 8 TTHEE 9

+ 156.84 x 0.55 + 391.65 x 0.54 + 507.38 x 0.53

TTI&HFE 10 TIHE 11 TTIHS 12
+ 35.37 x 0.61 + 48.29 x 0.59 + 87.22 x 0.58
TTHS 13 TTHE 14
+ 7.09 x 0.76 + 279.13 x 0.1 m3 814.5
TTITHFS 1 TTHS 2 TTHFSF 3
MEET T 25.16 x 0.15 7.96 x 0.17 1.97 x 0.15
TTES 4 TTES S TTIHES 6
206.56 x 0.14 1.93 x 0.17 13.22 x 0.14
TtTIHS T TTHS 8 TTEHFF 9

156.84 x 0.17

391.65 x 0.1

507.38 x 0.00

TT&ES 10

TIES 1

TTES 12

35.37 x 0.17

48.29 x 0.15

87.22 x 0.14

TIT&HS 13

TITES 14

7.09 x 0.15

279.13 x 0.00

m3

148.5




ERMITHEMNEE

AR K - ~Tik FER =X v) H=
TTIHEE 1 TTHS 2 TTHE 3
ERER INBY/Ny Ry 25.16 x 0.27 + 7.96 x 0.21 + 1.97 x 0.22
TT&ES 4 TTHEE S TTEHS 6
+ 206.56 x 0.22 + 1.93 x 0.28 + 13.22 x 0.28
TTIHEE T TTHS 8 TTHEE 9

+ 156.84 x 0.38 + 391.65 x 0.38 + 507.38 x 0.38

TTI&HFE 10 TIHE 11 TTIHS 12

+ 35.37 x 0.44 + 48.29 x 0.44 + 87.22 x 0.44
TTHS 13 TTHE 14

+ 7.09 x 0.61 279.13 x 0.1 m3 570.0
TTITHFS 1 TTHS 2 TTHFSF 3

Rt - AL 25.16 x 0.04 + 7.96 x 0.02 + 1.97 x 0.02

TTES 4 TTES S TTIHES 6

+ 206.56 x 0.02 + 1.93 x 0.00 + 13.22 x 0.00
TtTIHS T TTHS 8 TTEHFF 9

+ 156.84 x  (0.06) + 391.65 x (0.05) + 507.38 x (0.05)

TTES 10 TTES 1 TTIHS 12
+ 35.37 x (0.07) + 48.29 x (0.07) + 87.22 x (0.06)
TITHS 13 TTHE 14

+ 7.09 x (0.08) 279.13 x 0.00 m3 (60.7)







HEERIHRENTEE

E2 1 K - ~TiE FER =X v) =
TITHST
TFRAI77IL FEEEELT EdE] t=50mm 25.16 x 0.55 m2 13.8
TITHS
LR t=150mm 25.16 x 0.55 m2 13.8
TTITHS2 TTHSE3 TTHS4 TT&HSED TTHS6
oV )— R GESRT xE t=200mm 7.96 + 1.97 + 206.56 + 1.93 + 13.22 ) X 0.55 m2 127.4
avyoy—+k 127.40 x 0.20 m2 25.5
TTI&HES2 TTITHE3 TTEHEE4 TT&HSED TT&HEG6
L ERRE t=100mm 7.96 + 1.97 + 206.56 + 1.93 + 13.22 ) X 0.55 m2 127.4




§ . BEYINRLIM=EMES



BEPRELIHENTE

&% Btk - i B it =
TIHESI
BRI T 7R 770 R t50m 516 x 2 m 202
TIES?2 TI&HESS TIHFS4 TI&HFSS TI&FS6
a9 ) — % t=200mm 7.96 1.97 + 206.56 + 1.93 + 13.22 ) x 2 m 463. 3
TIHESI
R T A7)l M t=50mm 25.16 0.55 m2 13.8
TIES2 TI&EFSS TIEFS4 TI&EFSS TI&FS6
a9 ) — % t=200mm 7.96 1.97 + 206.56 + 1.93 + 13.22 ) «x 0.55 m2 127.4
OB ALIE T As 13. 80 0.05 m3 0.7
As 127. 40 0.20 m3 25.5
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BERITHUBENFE 1.0 m%y
TIES: 1 ARE% (AsEfz) L#WY: d= &5 By HE
EIRIEA m3
0.550 — /4% 0. 51
BhER
EHIEE R "
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TR 7I N 0.550 — /4% 0.15
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m3
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ERIIHEGHENTEE 1.0 m&y
TI®ES: 5 ARE% (Codfzk) L#HY: d= 2 s - Bk By B
EHRIEH INEIN yhikey 3
0.550 — 77 /4 % 0.50
B ELHE
EHIEE R "
m3
vy y— Mg 0.550 — 77 /4 % 0.17
8¢ ' S ¢ ERIBR ST m3
IS¢ 1Y 0.28
oA c —38 "
. Et e - ,
. e BAL BLNE m3 0.00
[
o ! o
o I FHET o o
o
& [
[a>] 1
o [ -
o
\4 | i
A oAC
= @ WER -
—Y Vo
— 1 o
v - | —
A . =
I
BEEXEHIVP ¢ 100 EtEE HPPE ¢ 100
« T »

R A=
0.550




ERIIHEGHENTEE 1.0 m&y
TTHEE: 6 A% (Cofz) L#HY:d= 0.90 m & B - Bk stEs B e
ERRAEHI INEAN 9 R m3
( 0.863 0.550 —;r/4x  0.060 "2) x 1.0 0.47
_ R
477 11| B 1B R Hp= X 0.100 + 0.063 + 0.100 =  0.263
m3
avhy— R ( 0.263 0.550 —;r/4x  0.063 "2) x 1.0 0.14
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ERIIHEGHENTEE 1.0 m&y
TTHEE: 10 A& CRE#E) T#Y: d= 0.90 & FR K - ik EK Bif H=
ERRAEHI INEAN 9 R m3
( 1.125 0.550 —;r/4x  0.114 "2) x 1.0 0.61
B ELHE
YR HI B _ HRFF = H@E S 0.100 + 0.125 4+ 0.100 = 0.325
| m3
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ERIIHEGHENTEE 1.0 m&y
TIES: 11 AR CGR&E)  T#HY: d= 0.9 &% 105 - Bk HEst B e
ERRAEHI INEAN 9 R m3
¢ 1.090 0.550 —x/4x  0.089 "2) x 1.0 0.59
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